nes]= DSolve[y''[x] -xy[x] =0, y[x], x]
ousl= {{y[x] - AiryAi[x] C[1l] +AiryBi[x] C[2]}}

nsol- DSolve[{y''[x]-xy[x] =0, y[1] ==1, y'[1] = 2}, y[x], x]
oue9l= {{y[x] - (2 AiryAil[x] AiryBi[1l] -2 AiryAi[l] AiryBi[x] +
AiryAiPrime[1l] AiryBi[x] - AlryAi[x] AliryBiPrime[1l]) /
(AiryAiPrime[1] AiryBi[l] -AiryAi[l] AiryBiPrime[1l]) }}

ni7ol= %[ [111[[111[[2]]

n7il= ¥[x_] := (2 AiryAi[x] AiryBi[l] -2 AiryAi[l] AiryBi[x] +
AiryAiPrime[l] AiryBi[x] - AiryAi[x] AiryBiPrime[1l]) /
(AiryAiPrime[1] AiryBi[1l] - AiryAi[l] AiryBiPrime[1])

n72l= ¥ [1]
out72]= 1
7= Y ' [1]

ouf78l= (2 AiryAiPrime[1l] AiryBi[1l] -2 AiryAi[l] AiryBiPrime[1l]) /
(AiryAiPrime[1l] AiryBi[1l] -AiryAi[l] AiryBiPrime[1l])

In[74:= N[%]

out[74]= 2.

n7si= Plot [Y[x], {x, 1, 2}]
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ne}- DSolve[xD[u[x, y], x] ~yD[u[x, y], yl +y*2u[x, y] =y"2, u[x, yl, %, y]

2

oul[76]= {{u[x, v] = l+ey7c[l] [x Y}}}

In[79]:= DSolve[{D[u[x, Y]I {xl 2}] _D[u[xl Y]I {YI 2}] == 0}1 u[xl Y]I X, Y]
ou7ol= {{ulx, y] 2 C[1][-x+y] +C[2] [x+y]}}

ngo)= InverseLaplaceTransform[l/ (z (z-1)*2), z, t]

ougol- 1 - et +et t



